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Question 1 2 3 4 ) 6 7 8 9 10
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I) Choose the correct answer (write it in the table above): [1 x 10 Marks]

1) The distance between the points A(—2,0) and B(2,3) is equal to

(a) V13 (b) V8 (c) 3 (d) 5
A 8) = AB = (G (3g-I = V=T =5

2) The remainder when P(z) = 8z* + 622 — 3z + 1 is divided by 2z2 — z + 2 is

(a) z—5 (b) Tz — 1 (c) —z+5

R x4 2R
~§A 43 |4AxPtLx

— 4 x7 '\'1%—r1
(b) 27In1

W(2?) = WMG%x3) =& &+ W3

3) In(27) is equal to

(a) 9In3 (d) 4In3

4) The domain of the function y = In(4 — 2z) is

(a) (—00,2) (b) (—o0,2] (¢) (2,00) (d) [2,00)

ig; s ey aanvolzgxer) 22X

5) The solution of the equation In(lnz) =0 is

(a) 0 (d) e

Ww W - 2% = d 1
[ W —
=4 = ¢ = X% T
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6) The solution of equation € — e* — 6 = 0 is

(a) 2 (b) In2 (c) 3 (d) In3
e _e™_¢ —o = Qc"‘)t—- (e*) -6 =o©
Pulr W = e*>o U A -6 =@+ U-3)=°
7) cos(%E) = e 3&‘}33
OF (b) 1 ©) & ) 8

Con (ETF) = — con (W) 2

8) If cost = —% and ¢ in the third quadrant then sint is equal to

o] T
m 'y

Ae cotkxSink =4 e Qut=I\ -k T

Ate  Rew b= icgp = ¥5

2
d) £ ~ -
G) D S Ef“lﬂ"’[’%‘i

. =\ v =\ \
Sin (%) = €in LS\V\TGI) -__-Tcg'

(a) —% (b)

[SA1[]
[SAa

9) sin~'(3) is equal to

(a) —Z (b) —% (c)

wld

10) sin™!(sin(£Z)) equals

—a 1 T & il
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IT) A) 1) Determine whether f(z) = 2z%* — 12z + 3 has a maximum or a minimum and

2 ST
Ln = 2(n=3Y=15 | 2 has a mwtio

@ alb v=3
—The wtepnrN (3 719) | & s

b - ax /3:

find this value.

4wy =-15 Ao every™
ii) Sketch the graph of f.

b

B) i) Use long division to find the quotient and the remainder when
P(z) = 63% — 26z + 12 is divided by (z — 4).

-4
Cctiew +\2 \,,L
6x-2L S, 6762”26 %*\2:&6_7:25)(%-4) +

() et
_anx\t  The a\,woﬁcw\rc,;o\tﬂ = 62~

5};% . The e m aanBaly YO = A =P(4)
ii) Find all zeros of P(z) = z* — 3z + 2. As y w-%%w.ks onR ‘“h&c"‘
Hetn ’L:?/c\ wilh Pla Z a4 So x—:{:‘s\ D'f-z-i
@ e\ (A= ©0 -\ =4 L () =0 e = A
"o 3):.—\-?.\”?14 9 D) Cxq_+x_2_)
Sl D(ry = w3—2nx2 =&

5, % -4
-ATX C Ty () (24
/;m"— u—Z To¢ 3ecocs of. P aw 4262) fy= (w -3 (e )

L TnXC " p .
-=™" i) Find a polynomial of degree 4 that has zeros (—2), 0, 1 and 2 and the coefficient

of z3 is (—8).

A C’Kz—'%) ( ')L'L-)\\'
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C) Solve the following equations:

)log(z+2) +loglz —1) =1.  The Oemarm of eguakhin (109). \

fo w>s-
& X2 \og (n+2) + log (x-1) = Log ((Wt'l)(*“))‘—' 4
Y41 -12 =0 / a=1 b“ __.gac—
So Wx!a/kﬂﬁ‘mw §;} X, = -_'_\;.:3‘ = -4 {7'4_‘4_ X — A +hB = QH
11) 53_23: :4 . L = _,—i— -
. ’_Dow.au:-. G‘F e CTﬁJ“M v IR
3-2%
5 — 4 3-—\V\A =1
'5 e 2w = M4 & 3 _\n2.
n (_5 3 Sp %X = %:('3 4} ) 2

=
Pur W= (e &~ Twen 7—‘47"'—:"“*3

iii) 2cos?§ — 7cosf +3 = 0. b=-7:C __.3
= . a=t i : 4‘3
LY, Ue = 1::"2 = z=®¢ :Dzscwm"“'J' ‘5 ‘52
Qv :'4-__'__-‘:"5._._._3 :wgé
= s £+ 2nTC .
wiH ne Z

9_—
Cen& =L  Thew
e 9,_ —T +2“TC

(2,%).

D) i) Find the rectangular coordmates for the pomt has polar coordinates
r=2 ; &6=32¢

A s
— "\H-Z = N1 L
®, {pems 2ile 2w W

Y= sine =12 (V) = -

ii) Find the polar coordlnates for the point has rectangular coordinates (2, —2+/3).
Y 3 - —2V3 T
-Jﬁw - 7= "L'*ﬂ 4 4+\?— = 4_ & o-~‘::
{ e = i :-/?1 So & ="T7s 7 '
'n r = ]
iii) Write the complex umber z = —1 + iv/3 in polar form and find (—1 +14/3)5.

2z = -A+N\3 : \zl= V‘I—l‘@'—)

‘ o =Arg@s == 7 19’3,;.5
l'ﬂt Sinl = 3/2, N

- 92 e >
2 = 6 e c,-4i(.) ’26

@ )
o =G

End of exam
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